H & 0l & AHS B Ml A

20258 20ilat Letel A et 2el
SN B2
3 dEzol 2l
Rl UoIE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2l 28,296,005 23,187,974 5,108,031
= 19,869,055
== 8,316,950
= 110,000
MEZOH 2l 3,736,505 5,421,014 1,684,509
= 1,733,455
< 2,003,050
oz 2el 2,626,420 4,301,481 1,675,061
= 1,356,000
= 1,270,420
SEIHHRES W=7 721,1% 843,99% A122,79
308 AtXIEHMSOIE 721,1% 843,99% A122,79
(VZeSESIME =1 721,1% 843,99% A122,79
OZMERY=S 721,1%
SHQIHER NS WR 37,484 36,79%6 688
308 XtXIEMSO0IE 37,484 36,79%6 688
2 d+uFs 37,484 36,7% 688
OsdgiER = 37,484
A2 MRS ZXAIE X X2 1,447,080 1,946,800 N4, 720
= 1,167,000
& 280,080
403 AXIEHMSA=Z0l1d 1,447,080 1,946,800 A499,720
= 1,167,000
= 280,080
01 XIS A =2 1,447,080 1,946,800 A9, 720
O AHHE ZRAIE XX 1,447,080
= 1,167,000
S 280,080
INREC D) 106,300 109,250 22,950
201 er23| 26,300 29,250 22,950
01 At2teltl 26,300 29,250 2,950
Ostefotmaie] 2 Ws & 28 S 14,800
OStStAtD o&8 SR RAl2el 11,500
308 AFAIEHMSOIE 80,000 80,000
13 SI[2SOHE & EAS A 80,000 80,000
Ol =8 82 80,000
SHBEAMHE JlsXl= 80,000 80,000 0
308 XXM SO0IH 80,000 0 80,000
18 SIS0t & A AS A 80,000 0 80,000
O3LH(SHBIEMNLE) JI&eXE 80,000
IHASEI(GP) HHED| HEXIZ ALY 234,360 1,284,640 1,060,280
= 189,000




FA 2|t
3 dEzol 2l
ol TOIE 2el EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 45,360
403 MR HMSAHE01H 234,360 1,284,640 21,060,280
= 189,000
= 45,360
01 XA =22 E 234,360 1,284,640 A1,050,280
ONASEI(GP) LI WEXZ ALY 234,360
= 189,000
= 45,360
$H2g 2el 1,110,085 1,119,533 29,448
= 377,455
< 732,630
SHQIEAL 2 23,200 27,800 /4,600
201 fer23| 10,200 10,200 0
02 S3=gHl 10,200 10,200 0
OEZMEANL B 2SN 28 S 10,200
202 04| 10,000 13,600 A3,600
01 =LHOHI 10,000 13,600 23,600
OSHSMEANE B LR 10,000
301 LELEN S 3,000 4,000 21,000
14 JIEt2 =3 3,000 4,000 21,000
OulZtetF A2 HEE A BSE 2,000
OsZH AN (128) L&z 1,000
= USSP £ - 2g22/8l N2 309,000 294,000 15,000
= 206,000
= 103,000
402 2I2F X201 & 309,000 294,000 15,000
= 206,000
= 103,000
02 QI TH2AILEE (01X THE) 309,000 294,000 15,000
OSSJAZAMA 2= 309,000
= 206,000
s 103,000
=& ANSEZIPD| €% - 2822l X2 257,185 249,233 7,952
= 171,455
& 85,730
402 2I2FX=01& 257,185 249,233 7,952
= 171,455
= 85,730
02 RIENEASEZ(0IETHR) 257,185 249,233 7,952
O=HIAAZAMA = 257,185
= 171,455
= 85,730




A SZ2e|nt
XM AHSIDF
o (==}

2S5l 2
el SELg 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SMSIATRHE 2S(20HEEXR) 327,200 330,000 22,800
307 elztol & 327,200 330,000 22,800
02 2B YA E X 327,200 330,000 2,800
OFg =MIAAMEH 28 At 327,200
NESd atZatel 140,400 130,000 10,400
201 er=23y| 75,400 70,000 5,400
01 AtR2t2|HI 62,800 58,000 4,800
OMSRSZ el AR 29 34,000
ON=SFaSZ 2l dAl=a i XA 28,800
2 35244l 12,600 12,000 600
ONERRBZBS 22 29 12,600
202 04l 5,000 0 5,000
01 =LHA LI 5,000 0 5,000
ONSRZ #8208 HEANE N8 S
ge = 5,000
308 AtXIEHMSOIE 60,000 60,000
01 AXEH B EES 60,000 60,000
OUEAMNSY =8 SZAE A 60,000
SAHSXIAIE LA K2 53,100 88,500 A35,400
403 XM SAH=01H 53,100 88,500 /35,400
01 AR A= 2 £ 53,100 88,500 A35,400
OSAFHLAAIE X0 XI&H 53,100
HOI=S2 o8 A Xl & 2el 24,488,520 17,692,780 6,795,740
= 18,135,600
= 6,242,920
= 110,000
HDI=S2 8 AT R 2el 24,488,520 17,692,780 6,795,740
= 18,135,600
= 6,242,920
= 110,000
OHE Xl EHl AL 330,000 0 330,000
= 300,000
< 30,000
403 MR HHMSAHE01H 330,000 0 330,000
= 300,000
= 30,000
01 AXISHHA=2 2 330,000 0 330,000
O=2=d g X Edl At 330,000
= 300,000
= 30,000
A2TAIE A 13,478,000 8,435,400 5,042,600
= 11,604,000




FA g2l
= o2l SR Mzl Y 2
SRl HII22 tERXel R 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,874,000
403 MR HMSAHE01H 13,478,000 8,435,400 5,042,600
= 11,604,000
= 1,874,000
01 XA =22 E 13,478,000 8,435,400 5,042,600
OAZIAIE &X 13,478,000
= 11,604,000
= 1,874,000
METR | =HEH &X 1,604,200 3,740,700 A2,136,500
= 1,481,000
< 123,200
403 AXIEHMSAH=0ld 1,604,200 3,740,700 2,136,500
= 1,481,000
S 123,200
01 MXIHH A 22 1,604,200 3,740,700 A2,136,500
OFgz delidz+4H &= 1,361,040
= 1,272,000
= 89,040
Ootfatz S +HEH &E 243,160
= 209,000
s 34,160
SEHHIE =H2d= 882,400 885,500 A3,100
= 441,200
& 441,200
308 XM SOIE 882,400 885,500 A3,100
= 441,200
= 441,200
01 XN EES 882,400 885,500 23,100
OsZHHlIE =H24= X 882,400
= 441,200
= 441,200
HYlE2+=H € st 278,250 238,728 39,5622
308 AHXIEMSOIH 278,250 238,728 39,522
14 JIEIR83 278,250 238,728 39,522
Oseld 3=AlY 253 278,250
otdot Aeld| Hat 818,150 685,085 133,065
= 690,900
= 117,250
= 10,000
308 AXIMSOIA 818,150 685,085 133,065
= 690,900
< 117,250
= 10,000

~
|




FA EE2
¥ HOIS9 ot

=

~ 2!
ciol: HDI2 oENHel @ el (cho] 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 818,150 685,085 133,065
Odtdst= 4¢10] otk 818,150
= 690,900
< 117,250
= 10,000
SSdotd =& 181,050 193,800 A12,750
= 106,500
< 74,550
403 MR HHMSAHE01H 181,050 193,800 A12,750
= 106,500
< 74,550
01 MXIHHA 22X 181,050 193,800 A12,750
Ossgoty == 181,050
= 106,500
= 74,550
sFze| gRFA 2,880 3,600 AT20
203 HR=H] 2,880 3,600 AT20
03 A=A =] 2,880 3,600 AT20
Otgddel ge=d 2,880
A0S HE ZXIXIE 1,266,000 0 1,266,000
= 1,266,000
403 THXI M SAH=01 ™ 1,266,000 0 1,266,000
= 1,266,000
01 MXIHHA 22 1,266,000 0 1,266,000
OHCHAl HAIOIZ2HE £XI 1,266,000
= 1,266,000
HEAE S& £ &3 1,710,000 1,937,567 N227,567
= 1,387,000
= 323,000
403 MM S =01 1,710,000 1,937,567 N22T 567
= 1,387,000
= 323,000
01 XIS A =2 1,710,000 1,937,567 N227,567
OlgAe S8 € =5 1,710,000
= 1,387,000
S 323,000
A= 2= 82 60,000 60,000 0
308 AHXIEMSOIH 60,000 60,000
18 SIS0t A AS A 60,000 60,000
OXt=2 ge=d 82 60,000
HOIZ 22l A = 659,500 89,500 570,000
201 ger=3| 27,500 27,500 0




SH: BB
= o2l SR Mzl Y 2
ool HIIZo orEET W 22 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 20,000 20,000 0
OHJIZHEINE 7| - 29 FoI4+84
=l 20,000
02 S3=gHl 7,500 7,500 0
Ost=HJI=8g3al Halt| 7,500
308 AFAIEHMSOIE 20,000 20,000
13 SI[2SOHE & EAS A 20,000 20,000
OCHJIZ 20F 38 g8 20,000
403 XM SAH=01H 612,000 62,000 550,000
01 AXISHHA=2EXE 612,000 62,000 560,000
O=Y tiE 2Al AIAE 25 62,000
OHPISXCIAE tdstd X d 550,000
SASHIIZ Hel 13,140 21,900 A8,760
403 AXIEHHSAH=201d 13,140 21,900 A\8,760
01 MHXIHHA 222 13,140 21,900 A8,760
OSA=FRHII= 2| K& 13,140
old & == Hat 14,850 16,500 1,650
307 lztol & 14,850 16,500 1,650
02 ItB A HE L 14,850 16,500 1,650
OO0htts - fus =535t & 325 B
el 14,850
SEHJIZ el 690,000 225,000 465,000
308 AXIHS0IA 690,000 225,000 465,000
01 HAHHBSEEXS 690,000 225,000 465,000
OsEXDI] =HHMH HE A 690,000
DRI WdAs HdE8H 21,600 36,000 14,400
308 AFAIEHMSOIE 21,600 36,000 14,400
01 XN EES 21,600 36,000 214,400
OLNFIPI Mz d8+=H K& 21,600
BiE=2 23t 140,000 140,000
403 AXIEHHISAH=0l 140,000 140,000
01 AR A =2 & 140,000 140,000
odgM | tHEs2t Selat 140,000
SctAE dzgt 2dAH 24 200,000 200,000
207 ARl 200,000 200,000
01 = 200,000 200,000
OZctAE d=8 SHAH &4 200,000
MY DI HRELZ! H0bts &elE= 7,500 0 7,500
308 AFAIEHMSOIE 7,500 7,500
01 AXHH B EES 7,500 7,500
OMDIPE HA2Z! H0te &EIA(E
QIE0) 7,500




FA g2l
= o2l SR Mzl Y 2
SRl HII22 tERXel R 2 EER=E)
SA - B BRA(SH) - LA - BES of v e HIDE2
HelXle st HEs 22 Us 12,000 12,000
308 XHXIEMSOIH 12,000 12,000
01 HRHH B E2ES 12,000 12,000
OHaAXlE 32 Hes 22 Us(Z2EA) 12,000
BASE A& 43 N 270,000 270,000
308 AXIHSOIA 270,000 270,000
01 MAHHBSEEXS 270,000 270,000
OEASE A& 243 X 270,000
TRl MAKS =& X2 (AI2) 629,000 629,000
= 629,000
308 AIXIHHISO0IA 629,000 629,000
= 629,000
01 AXHNBEES 629,000 629,000
Ot=I8I] MAtg F& X (AlZ) 629,000
= 629,000
TRl MAS & X (HAH) 160,000 160,000
= 80,000
=S 80,000
201 er23| 160,000 160,000
= 80,000
== 80,000
01 At2teltl 160,000 160,000
OtzlEI| MAtE 58 K& 160,000
= 80,000
< 80,000
OIcHAIEES HEESS +=H - 88, NS AIAE 3= 600,000 600,000
308 AHXIHMSO0IA 150,000 150,000
01 AXEHBEES 150,000 150,000
OHdle nZE THas AlgEAY 150,000
403 XM SAH=01H 450,000 450,000
01 AR A= 2 £ 450,000 450,000
ONgE =1 "8 ALY 2= 450,000
SHE =& ANgits =4 150,000 180,000
= 50,000
= 100,000
307 @20l & 150,000 150,000
s 50,000
= 100,000
02 LB AANHEE 150,000 150,000
Osgd 2= ANEils =4 150,000
[ 50,000
= 100,000




FA EE2

=

mE: EDISC| OEE Mol o 22
ol HII29 OHEEEZ U e (SHol: )
SA - BB - SRI(SIH) - KISAKY - A HIm=S2t
Ctalgl] XJdH 29 K& 300,000 0 300,000
= 150,000
T 150,000
307 212+01™ 300,000 0 300,000
= 150,000
= 150,000
02 QIZHEAAHE X 300,000 0 300,000
O83%&)| olZe £ 300,000
= 150,000
& 150,000
ZClHE AlQI2Al JHE AL 10,000 10,000
308 AHXIHMSOIH 10,000 10,000
01 IXSHHBLERS 10,000 10,000
O=cItiE Al2I2A Jf 10,000
HY2AZH(SHZ2AL2|) 70,980 74,180 A3,200
[2Zg(erE2e) 70,980 74,180 A3,200
Jleddi(etgael) 70,980 74,180 A3,200
201 B2 AY| 33,600 35,200 A1,600
01 AtR2elt] 33,600 35,200 21,600
Otz ae| g2Fa 33,600
202 0idl 33,600 35,200 21,600
01 =WO4bI 33,600 35,200 A1,600
Ostdae| g2 33,600
203 YR F=&IH| 3,780 3,780
M FA2EHRFAHI 3,780 3,780
Oostgae| g2=d 3,780




